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Draw a less than type cumulative frequency curve for the following

frequency @ssmimﬁon and obtain Median, Q3 and Pey from the graph.
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Obtain values of ¥, M, Z, and D7 from the following frequency
distribution,

x 100 200 300 400 560 600 700
f 3 5 g i4 8 7 0 4
Define Mean and state its merits and demerits.

Obtain values of ¥, M, Z, and Q3 from the following frequency
distribution.
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rd deviation and write

Whaé: is “f*eapfmg of dispersion? Define standar
and demerits.
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Write 2 note on Skewness

Calculaie the Naxl Pearson's cosfficient of skewness

foilowing data.
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Answer any EIGHT of'th

Which of the following is an example of a continuous variable?
. Number of accidents 2. Number of members in a family
3. Temperature 4. Noze of the above

1 & series is

t. Class 2. Class length  3.Frequency 4. None of these
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